BA3700/206 (L,P. Chew),.Chapter 13 -Review Questions 
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Which of these best illustrates a major innovation?

	a.
	A modification of an existing product or an innovation that the consumer perceives as meaningful

	b.
	An alteration in or extension of a firm's existing products

	c.
	Items not previously sold by any firm

	d.
	Items not previously sold by a firm that have been marketed by others


____
2.
The growth stage of the product life cycle is characterized by

	a.
	a stable sales pattern.

	b.
	high total and unit profitability.

	c.
	the greatest degree of competition.

	d.
	the greatest number of distribution outlets available.


____
3.
Competition is at its highest level in which product life-cycle stage?

	a.
	Introduction
	c.
	Maturity

	b.
	Growth
	d.
	Decline


____
4.
With a self-fulfilling prophecy, a firm incorrectly

	a.
	seeks out the largest, but most competitive market segment.

	b.
	assesses its ability to reverse a downward sales pattern.

	c.
	removes marketing support from a product that requires additional support to grow.

	d.
	seeks out an incorrect international market.


____
5.
Absolute product failure occurs when a firm

	a.
	is unable to regain its production and marketing costs.

	b.
	does not meet its sales and/or profit expectations.

	c.
	withdraws a product prior to commercialization.

	d.
	withdraws a product after test marketing.


____
6.
In relative product failure, a new product

	a.
	takes sales away from existing products.

	b.
	has a net loss.

	c.
	does not meet its sales and/or profit expectations.

	d.
	is withdrawn during the introduction stage of the product life cycle.


____
7.
The new-product planning process involves a series of steps from

	a.
	introduction to decline.

	b.
	introduction to commercialization.

	c.
	idea generation to commercialization.

	d.
	product screening to commercialization.


____
8.
The use of small-group sessions which are designed to come up with a variety of ideas for new products is

	a.
	pure research.
	c.
	applied research.

	b.
	concept testing.
	d.
	brainstorming.


____
9.
In which stage of the new-product planning process is the consumer presented with a description or picture of a proposed product and then asked to evaluate his/her purchase intentions or to express his or her attitudes?

	a.
	Business analysis
	c.
	Test marketing

	b.
	Concept testing
	d.
	Commercialization


____
10.
In which new-product planning stage does a firm seek to determine the rate of return on the total investment for a new product on the basis of projections of demand, costs, and investment?

	a.
	Business analysis
	c.
	Concept testing

	b.
	Product development
	d.
	Product screening


____
11.
The product development stage of the new-product planning process is characterized by the

	a.
	creation of a sample product and the development of a basic marketing strategy.

	b.
	estimation of return on investment.

	c.
	measurement of consumer attitudes and intentions to buy.

	d.
	determination and monitoring of a product's sales.


____
12.
A new product's actual sales performance is measured in

	a.
	business analysis.
	c.
	test marketing.

	b.
	concept testing.
	d.
	commercialization.


____
13.
Which stage of the product life cycle most closely corresponds to the commercialization stage of the new-product planning process?

	a.
	Maturity
	c.
	Growth

	b.
	Decline
	d.
	Introduction


____
14.
In which situation will a product have a slow rate of adoption?

	a.
	Consumers have a high discretionary income.

	b.
	Product importance is high.

	c.
	The product represents low overall perceived risk.

	d.
	Product attributes can be easily communicated.


____
15.
A product will have a rapid rate of adoption if

	a.
	perceived risk is high and the product is a major innovation.

	b.
	the product is compatible with current life-styles.

	c.
	product importance is high.

	d.
	consumers have low discretionary income.


____
16.
In the diffusion process, the mass market is comprised of

	a.
	innovators and early adopters.
	c.
	the early majority and the late majority.

	b.
	innovators and the early majority.
	d.
	the late majority and laggards.


____
17.
Which product life-cycle stage corresponds with the use of late majority and laggard groups as target markets?

	a.
	Decline
	c.
	Fad

	b.
	Maturity
	d.
	Bust


____
18.
When discontinuing a product, a firm must be sure to

	a.
	lower prices.

	b.
	cut back on advertising.

	c.
	notify customers and resellers to line up alternate suppliers.

	d.
	reduce distribution outlets.


____
19.
Which statement concerning absolute and relative product failures is NOT correct?

	a.
	If a product makes a very small profit (that is less than planned), the product is a relative product failure but not an absolute product failure.

	b.
	A product failure can be both a relative and an absolute product failure.

	c.
	All absolute product failures are relative product failures.

	d.
	A firm can consider a new product to be a relative product failure if it takes sales away from other products.


____
20.
Which of these is an example of the use of the diffusion process concept for a notebook computer manufacturer?

	a.
	Twenty percent of the surveyed consumers feel that a notebook computer offers meaningful advantages over desktop units.

	b.
	Eighty percent of current notebook owners use their notebook computers at least once a month.

	c.
	Only 15 percent of the households earning $50,000 or more currently own a notebook computer.

	d.
	Sixty percent of notebook owners would consider the purchase of a new notebook if a 5-pound version were developed that sold for $700 or less.


